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QUESTION 1

Which Substitution Variables are used in the "Process Loaded Data\\' Business Rule?

A. andOEP_CurMnth, andOEP_CurYr, andOEP_YearRange

B. andOEP_FcstMnth, andOEP_FcstYr, andOEP_FcstEndYr

C. andOEP_PlanMnth, andOEP_PlanYr, andOEP_PlanRange

D. andOEP_LoadMnth, andOEP_LoadYr, andOEP_LoadRange

Correct Answer: A

Substitution variables act as global placeholders for information that changes regularly. For example, you could set the
current month member to the substitution variable CurMnth so that when the month changes, you need not update the

month value manually in the form or the report script.

References: https://docs.oracle.com/cloud/latest/pbcs_common/PFUSA/about_substitution_variables.ht m

QUESTION 2

Which two operations can be performed on the default navigation flow? (Choose two.)
A. It can be copied.

B. It can be renamed.

C. It can be deleted.

D. It can be deactivated.

Correct Answer: AD

The Default navigation is read-only and cannot be modified. ?

Limitations of the Default navigation flow:

References: https://womaninepm.com/2016/06/19/epbcs-series-navigation-flows/

QUESTION 3

Which LCM Category is required to restore Essbase data?
A. Calculation Manager

B. Planning

C. Data Management

D. Groups and Memberships
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Correct Answer: C

Users performing Lifecycle Management (LCM) operations for Essbase must be assigned the following roles: LCM
Administrator, Server Access, Calc, and Database Manager.

The Database Manager role is required to import into destination applications.

References: https://docs.oracle.com/cd/E57185_ 01/EPMLU/apcs02.html

QUESTION 4

Which is NOT available for assigning customized navigation flows?
A. Global

B. Group

C. User

D. Role

Correct Answer: C

Navigation flows are categorized as follows for customization:

References: Oracle Cloud, Administering Planning for Oracle Enterprise Planning and Budgeting Cloud , page 7-2

QUESTION 5

You are planning by Employee and Job within the Workforce Planning framework. Which Employee property is
NOT required in order to calculate salaries for existing employees?

A. Status

B. FTE

C. Skill Set

D. Start Month

E. Salary Basis

Correct Answer: C
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